

PAPER • OPEN ACCESS

A CERTAIN SUBCLASS OF MULTIVALENT HARMONIC FUNCTIONS DEFINED BY RUSCHEWEYH DERIVATIVES

To cite this article: Zainab H. Mahmood *et al* 2020 *J. Phys.: Conf. Ser.* **1530** 012057

View the [article online](#) for updates and enhancements.

You may also like

- [Review—Advanced Secondary Batteries with Multi-Electron Reaction of Light Elements](#)
Tuo Zhao and Meiling Wang
- [Review—Open-Framework Structure Based Cathode Materials Coupled with Metallic Anodes for Rechargeable Multivalent Ion Batteries](#)
Ya Xiong, Yueqiang Lin and Qingzhong Xue
- [Some New Results of Differential Subordinations for HigherOrder Derivatives of Multivalent Functions](#)
Sarah A. Al-Ameedee, Waggas Galib Atshan and Faez Ali Al-Maamori

PRIME
PACIFIC RIM MEETING
ON ELECTROCHEMICAL
AND SOLID STATE SCIENCE

HONOLULU, HI
Oct 6–11, 2024

Abstract submission deadline:
April 12, 2024

Learn more and submit!

Joint Meeting of
The Electrochemical Society
•
The Electrochemical Society of Japan
•
Korea Electrochemical Society

A CERTAIN SUBCLASS OF MULTIVALENT HARMONIC FUNCTIONS DEFINED BY RUSCHEWEYH DERIVATIVES

Zainab H.Mahmood¹, Kassim A. Jassim² and Buthyna N.Shihab³

¹ College of Science, University of Baghdad

² College of Science, University of Baghdad

³ College of Education for Pure Science, Ibn Al-Haitham, University of Baghdad

zainab_hd@yahoo.com

kasimmathphd@gmail.com

dr.buthyna@yahoo.com

Abstract. We introduce a new class of harmonic multivalent functions defined by generalized Ruscheweyh derivative operator. We also obtain several interesting properties such as sharp coefficient estimates, distortion bound, extreme points, Hadamard product and other several results. Derivative; extreme points.

Keywords: Multivalent Functions, Harmonic Functions Defined By Ruscheweyh Derivatives

1. Introduction

continuous function $f = u + iv$ is complex-valued harmonic function in a domain $D \subset \mathbb{C}$ if both u and v are real harmonic in D , we can write $f = h + \bar{g}$, where h and g analytic in D . We call h and g analytic part and co-analytic part of f . The Harmonic functions $f = h + \bar{g}$ that are multivalent and sense preserving in the open disk $U = \{s : |s| < 1\}$. So $f = h + \bar{g}$ is sense preserving and locally one-to-one in D if $|h'(s)| > |g'(s)|$ in D . See Clunie and Shell-Small [2] (see also [4], [3] and [1]).

Let \mathcal{H} be a class of all harmonic functions $f = h + \bar{g}$ that are multivalent and sense preserving in the open disk U where

$$h(s) = s^w + \sum_{l=w+1}^{\infty} a_n s^l, \quad g(s) = \sum_{l=w}^{\infty} b_n s^l \quad (1)$$

Normalized by normalized by $f(0) = h(0) = f_s(0) - 1 = 0$ with $f_z(0)$ denotes partial derivative of $f(s)$ at $s = 0$ and we call h and g analytic part and co-analytic part of f respectively.

Now, we introduce a new class $AJ_{\mathcal{H}}(\lambda, \alpha, k, \gamma)$ of function $f \in \mathcal{H}$ where h and g of the form



$$h(s) = s^w - \sum_{l=w+1}^{\infty} a_n s^l, \quad g(s) = - \sum_{l=w}^{\infty} b_n s^l \tag{2}$$

Satisfying

$$\operatorname{Re} \left\{ (1 + ke^{i\gamma}) \frac{(s^{q+1}(D^{\lambda+w-1}h(s))^{q+1}) + \overline{(s^{q+1}(D^{\lambda+w-1}g(s))^{q+1})} + (2s^q(D^{\lambda+w-1}g(s))^q)}{s^q(D^{\lambda+w-1}f(s))^q - z^q(D^{\lambda+w-1}g(s))^q} \right\} \geq \alpha \tag{3}$$

Where

Where $s = re^{i\theta}$, γ, ξ, α and θ are real such that $0 \leq \gamma < 1, 0 \leq \alpha < 1, 0 \leq \xi < 1, \alpha < k \leq 1, 0 \leq r < 1$. and $D^{\lambda+w-1}f(s)$ is the Ruscheweyh derivative of f and is defined by

$$\begin{aligned} D^{\lambda+w-1}f(s) &= \frac{s^w}{(1-s)^{\lambda+w}} * f(s) \\ &= s^w + \sum_{l=w+1}^{\infty} B_n(\lambda) a_n s^l, \lambda > -w \\ B_n(\lambda) &= \frac{\Gamma(\lambda+1)}{\Gamma(\lambda+w)(1-w)!} \end{aligned}$$

Also

$$D^{\lambda+w-1}f(s) = D^{\lambda+w-1}h(s) + \overline{D^{\lambda+w-1}g(s)} \tag{4}$$

Where

$$\begin{aligned} (D^{\lambda+w-1}h(s))^q &= \frac{w!}{(w-q)!} s^w + \sum_{l=w+1}^{\infty} \frac{l!}{(l-q)!} B_l(\lambda) a_l s^l \\ (D^{\lambda+w-1}g(s))^q &= \sum_{l=w}^{\infty} \frac{l!}{(l-q)!} B_l(\lambda) b_l s^l \end{aligned}$$

Further, let $\overline{\mathcal{H}}$ be the subfamily of \mathcal{H} consisting of harmonic functions $f = h + \bar{g}$ where

$$h(s) = s^w - \sum_{l=w+1}^{\infty} |a_l| s^l \text{ And } g(s) = - \sum_{l=w}^{\infty} |b_l| s^l, a_l \geq 0, b_l \geq 0 \tag{5}$$

Let $\overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$ be the subclass of functions $f \in \overline{\mathcal{H}}$. To attempt the various properties of Harmonic convex functions of from $f = h + \bar{g}$ and (5), we need the following sufficient condition studied by J.M.Jahangiri[3]

2. Main Results

In the first theorem, we introduce a sufficient coefficient bound for harmonic functions in the class $\overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$.

THEOREM 1:

Let $f = h + \bar{g} \in \mathcal{H}$ with

$$\sum_{l=w+1}^{\infty} \left(\frac{\frac{l!}{(l-q)!} \{(l-q)(k+1) + (1-\alpha)\}}{\frac{w!}{(w-q)!} (1-\alpha)} |a_l| - \sum_{l=w}^{\infty} \frac{\frac{l!}{(l-q)!} \{(l-q)(k+1) + (1+2k+\alpha)\}}{\frac{w!}{(w-q)!} (1-\alpha)} |b_l| \right) B_l(\lambda) \leq 1$$

Where $a_1 = 1, 0 \leq \alpha < 1, \lambda > -1, 0 \leq k < \infty$. Then f is harmonic w -valent

In U and $f \in \overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$

PROOF:

We have

$$\operatorname{Re} \left\{ \frac{(1 + ke^{i\gamma}) \left\{ \left(s^{q+1} (D^{\lambda+w-1}h(s))^{q+1} \right) + \overline{\left(s^{q+1} (D^{\lambda+w-1}g(s))^{q+1} \right)} \right\} + \left\{ \frac{s^q (D^{\lambda+w-1}f(s))^q}{-s^q (D^{\lambda+w-1}g(s))^q} \right\}}{s^q (D^{\lambda+w-1}h(s))^q - \overline{s^q (D^{\lambda+w-1}g(s))^q}} \right\}$$

$$= \operatorname{Re} \left(\frac{A(s)}{B(s)} \right) \geq \alpha$$

Where $\alpha_1 = 1, 0 \leq \alpha < 1, \lambda > -1, \alpha < k \leq 1$. Then f is harmonic multivalent in U and $f \in AJ_{\mathcal{H}}(\lambda, \alpha, k, \gamma)$.

Here, we let

$$A(\lambda, s) = (1 + ke^{i\gamma}) \left\{ s^{q+1} (D^{\lambda+w-1}h(s))^{q+1} + \overline{s^{q+1} (D^{\lambda+w-1}g(s))^{q+1}} + \overline{2s^q (D^{\lambda+w-1}g(s))^q} \right\} + \left(s^q (D^{\lambda+w-1}h(s))^q - \overline{s^q (D^{\lambda+w-1}g(s))^q} \right)$$

And

$$B(\lambda, s) = s^q (D^{\lambda+w-1}f(s))^q - \overline{s^q (D^{\lambda+w-1}g(s))^q}$$

We want to show that

$$|A(\lambda, s) + (1 - \alpha)B(\lambda, s)| - |A(\lambda, s) - (1 + \alpha)B(\lambda, s)| \geq 0.$$

But

$$\begin{aligned} & |A(\lambda, s) + (1 - \alpha)B(\lambda, s)| - |A(\lambda, s) - (1 + \alpha)B(\lambda, s)| \\ &= \left| (1 + ke^{i\gamma}) \left\{ \left(s^{q+1} (D^{\lambda+w-1}h(s))^q \right) + \overline{s^{q+1} (D^{\lambda+w-1}g(s))^{q+1}} + \overline{2s^q (D^{\lambda+w-1}g(s))^q} \right\} + \left(s^q (D^{\lambda+w-1}h(s))^q - \overline{s^q (D^{\lambda+w-1}g(s))^q} \right) \right| \\ & - \left| (1 + ke^{i\gamma}) \left\{ s^{q+1} (D^{\lambda+w-1}h(s))^{q+1} + \overline{s^{q+1} (D^{\lambda+w-1}g(s))^{q+1}} + \overline{2s^q (D^{\lambda+w-1}g(s))^q} \right\} + \left(s^q (D^{\lambda+w-1}h(s))^q - \overline{s^q (D^{\lambda+w-1}g(s))^q} \right) \right| \\ & - (1 - \alpha) \left| \left(s^q (D^{\lambda+w-1}h(s))^q - \overline{s^q (D^{\lambda+w-1}g(s))^q} \right) \right| \\ &= \left| (1 + ke^{i\gamma}) \left(s^{q+1} (D^{\lambda+w-1}h(s))^{q+1} \right) + (2 - \alpha) \left(s^q (D^{\lambda+w-1}h(s))^q \right) + (1 + ke^{i\gamma}) \left(\overline{s^{q+1} (D^{\lambda+w-1}g(s))^{q+1}} \right) + (2ke^{i\gamma} + \alpha) \left(\overline{s^q (D^{\lambda+w-1}g(s))^q} \right) \right| \\ & - \left| (1 + ke^{i\gamma}) \left(s^{q+1} (D^{\lambda+w-1}h(s))^{q+1} \right) + (-\alpha) \left(s^q (D^{\lambda+w-1}h(s))^q \right) + (1 + ke^{i\gamma}) \left(\overline{s^{q+1} (D^{\lambda+w-1}g(s))^{q+1}} \right) + (2 + 2ke^{i\gamma} + \alpha) \left(\overline{s^q (D^{\lambda+w-1}g(s))^q} \right) \right| \end{aligned}$$

$$\begin{aligned}
 &= \left| (1 + ke^{i\gamma}) \left(\left(\frac{w!}{(w-q-1)!} s^w + \sum_{l=w+1}^{\infty} \frac{l!}{(l-q-1)!} B_l(\lambda) a_l s^l \right) \right. \right. \\
 &\quad + (2-\alpha) \left(\frac{w!}{(w-q)!} s^w + \sum_{l=w+1}^{\infty} \frac{l!}{(l-q)!} B_l(\lambda) a_l s^l \right) \\
 &\quad + (1 + ke^{i\gamma}) \left(\sum_{l=w}^{\infty} \frac{l!}{(l-q-1)!} B_l(\lambda) b_l s^l \right) \\
 &\quad \left. \left. + (2ke^{i\gamma} + \alpha) \left(\sum_{n=w}^{\infty} \frac{n!}{(n-q)!} B_l(\lambda) b_l s^l \right) \right) \right| \\
 &\quad - \left| (1 + ke^{i\gamma}) \left(\left(\frac{w!}{(w-q-1)!} s^p + \sum_{l=w+1}^{\infty} \frac{l!}{(l-q-1)!} B_l(\lambda) a_l s^l \right) \right. \right. \\
 &\quad + (-\alpha) \left(\frac{w!}{(w-q)!} s^p + \sum_{l=w+1}^{\infty} \frac{l!}{(l-q)!} B_l(\lambda) a_l s^l \right) \\
 &\quad + (1 + ke^{i\gamma}) \left(\sum_{l=p}^{\infty} \frac{l!}{(l-q-1)!} B_l(\lambda) b_l s^l \right) \\
 &\quad \left. \left. + (2 + 2ke^{i\gamma} + \alpha) \left(\sum_{l=w}^{\infty} \frac{l!}{(l-q)!} B_l(\lambda) b_l s^l \right) \right) \right| \\
 &\geq \left| \frac{w!}{(w-q)!} \left((1 + ke^{i\gamma})(w-q) + (2-\alpha) \right) |s|^w - \sum_{l=w+1}^{\infty} \frac{l!}{(l-q)!} \left((l-q)(1 + ke^{i\gamma}) + \right. \right. \\
 &\quad \left. \left. (2-\alpha) \right) B_l(\lambda) a_l s^l - \sum_{l=w}^{\infty} \frac{l!}{(l-q)!} \left((l-q)(1 + ke^{i\gamma}) + (2ke^{i\gamma} + \alpha) \right) B_l(\lambda) b_l s^l \right| - \\
 &\quad \left| \frac{p!}{(p-q)!} \left((1 + ke^{i\gamma})(p-q) + \alpha \right) s^p - \sum_{n=w+1}^{\infty} \frac{l!}{(l-q)!} \left((l-q)(1 + ke^{i\gamma}) + (-\alpha) \right) B_l(\lambda) a_l s^l - \right. \\
 &\quad \left. \sum_{l=w}^{\infty} \frac{l!}{(l-q)!} \left((l-q)(1 + ke^{i\gamma}) + (2 + 2ke^{i\gamma} + \alpha) \right) B_l(\lambda) b_l s^l \right| \\
 &\geq \frac{2w!}{(p-q)!} (1-\alpha) |s|^p \left(1 - \sum_{l=w+1}^{\infty} \frac{\frac{l!}{(l-q)!} \left((l-q)(1+k) + (1-\alpha) \right)}{\frac{w!}{(w-q)!} (1-\alpha)} B_l(\lambda) |a_l| |s|^{l-p} \right. \\
 &\quad \left. - \sum_{l=w}^{\infty} \frac{\frac{l!}{(l-q)!} \left((l-q)(1+k) + (1+2k+\alpha) \right)}{\frac{w!}{(w-q)!} (1-\alpha)} B_l(\lambda) |b_l| |s|^{l-w} \right) \geq 0
 \end{aligned}$$

This completes the proof of theorem.
 The harmonic function

$$f(s) = s^w + \sum_{l=w+1}^{\infty} \frac{\frac{w!}{(w-q)!}(1-\alpha)}{\frac{l!}{(l-q)!}((l-q)(1+k) + (1-\alpha))} T_l s^l + \sum_{l=w}^{\infty} \frac{\frac{w!}{(w-q)!}(1-\alpha)}{\frac{l!}{(l-q)!}((l-q)(1+k) + (1+2k+\alpha))} \bar{S}_l \bar{s}^l$$

Where $\sum_{l=2}^{\infty} |T_l| + \sum_{l=1}^{\infty} |S_l| = 1$.

Putting $q=1$, in the above theorem, to obtain

COROLLARY 1:

Let $f = h + \bar{g} \in \mathcal{H}$ with

$$\sum_{l=2}^{\infty} \frac{l(l-\alpha)}{(1-\alpha)} |a_l| + \sum_{l=1}^{\infty} \frac{l(l+\alpha)}{(1-\alpha)} |b_l| \leq \sum_{l=2}^{\infty} \left(\frac{l\{l(k+1) - k - \alpha\}}{(1-\alpha)} |a_l| + \frac{l\{l(k+1) + k + \alpha\}}{(1-\alpha)} |b_l| \right) B_l(\lambda)$$

Where $a_1 = 1, 0 \leq \alpha < 1, \lambda > -1, 0 \leq k < \infty$. Then f is harmonic p -valent in U and $f \in \overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$.

We note that the result obtained by [5].

THEOREM 2:

Let $f = h + \bar{g}$ defined by (5). Then the necessary and sufficient condition for the function f to be in the class $AJ_{\mathcal{H}}(\lambda, \alpha, k, \gamma)$ is the subclass of $AJ_{\mathcal{H}}(\lambda, \alpha, k, \gamma)$, is that

$$\left(\sum_{l=w+1}^{\infty} \frac{\frac{l!}{(l-q)!}((l-q)(1+k) + (1-\alpha))}{\frac{w!}{(w-q)!}(1-\alpha)} |a_l| - \sum_{l=w}^{\infty} \frac{\frac{l!}{(l-q)!}((l-q)(1+k) + (1+2k+\alpha))}{\frac{w!}{(w-q)!}(1-\alpha)} |b_l| \right) B_l(\lambda) \leq 1$$

(6)

Where $\alpha_1 = 1, 0 \leq \alpha < 1, \alpha < k \leq 1, \lambda > -1, 0 \leq \gamma < 1$ and

$$B_l(\lambda) = \frac{\Gamma(\lambda+1)}{\Gamma(\lambda+w)(1-w)!}$$

PROOF:

Since $\overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma) \subset AJ_{\mathcal{H}}(\lambda, \alpha, k, \gamma)$, then the “necessary” part follows from Theorem (1) for the “sufficient” part, we show that (6) does not hold good implies that $f \notin \overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$. Now, a function $f \in \overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$ if and only if

$$\operatorname{Re} \left\{ (1 + ke^{i\gamma}) \frac{s (D^{\lambda+w-1} f(s))^{q+1}}{(D^{\lambda+w-1} f(s))^q} + 1 \right\} \geq \alpha$$

Therefore,

$$\operatorname{Re} \left(\frac{\left\{ \frac{w!}{(w-q)!} (1-\alpha) |s|^w - \sum_{l=w+1}^{\infty} \frac{l!}{(l-q)!} \binom{l-q}{1-\alpha} |a_l| B_l(\lambda) |s|^l \right. \right.}{\left. \left. - \sum_{l=w}^{\infty} \frac{l!}{(l-q)!} \binom{l-q}{1+2k+\alpha} |b_l| B_l(\lambda) |s|^l \right\}}{\left\{ \mathcal{Z} - \sum_{l=w+1}^{\infty} \frac{l!}{(l-q)!} |a_l| B_l(\lambda) |s|^l + \sum_{l=w}^{\infty} \frac{l!}{(l-q)!} |b_l| B_l(\lambda) |\bar{s}|^l \right\}} \right) \geq 0$$

The last inequality must hold for alls, $|s| = r < 1$. Choosing the values of \mathcal{Z} on the positive real axis where $0 < |s| = r < 1$ we must have,

$$= \left(\frac{\left\{ \frac{w!}{(w-q)!} (1-\alpha) r^w - \sum_{l=w+1}^{\infty} \frac{l!}{(l-q)!} \binom{l-q}{1-\alpha} |a_l| B_l(\lambda) r^{l-w} \right. \right.}{\left. \left. - \sum_{l=w}^{\infty} \frac{l!}{(l-q)!} \binom{l-q}{1+2k+\alpha} |b_l| B_l(\lambda) r^{l-w} \right\}}{\left\{ 1 - \sum_{l=w+1}^{\infty} \frac{l!}{(l-q)!} |a_l| B_l(\lambda) r^{l-1} + \sum_{l=w}^{\infty} \frac{l!}{(l-q)!} |b_l| B_l(\lambda) r^{l-1} \right\}} \right) \geq 0 \quad (7)$$

We note that if the condition (6) does not hold, then the numerator in (7) when r goes to 1 is negative.

This is a contradiction for $f(\mathcal{Z}) \in \overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$ and the proof is complete.

In the next theorem we obtain the extreme points of the closed convex hulls of $\overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$ denoted by $\operatorname{clco} \overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$.

THEOREM 3:

The function $f(\mathcal{Z}) \in \operatorname{clco} \overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$ if and only if

$$f(s) = \sum_{n=w}^{\infty} (T_n h_n(s) + S_n g_n(s)) \quad (8)$$

Where

$$h_w(s) = s^w, \quad h_l(s) = s^w - \frac{\frac{w!}{(w-q)!} (1-\alpha)}{\frac{l!}{(l-q)!} \binom{l-q}{1+k} + (1+\alpha)} s^l, \quad l = w + 1, w + 2, \dots$$

$$g_l(s) = s^w - \frac{\frac{w!}{(w-q)!} (1-\alpha)}{\frac{l!}{(l-q)!} \binom{l-q}{1+k} + (1+2k+\alpha)} s^l, \quad l = w, w + 1, \dots$$

$$\sum_{l=w}^{\infty} (T_l + S_l) = 1, \quad T_l \geq 0 \quad \text{and} \quad S_l \geq 0$$

In particular the extreme points of $\overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$ are $\{h_l\}$ and $\{g_l\}$.

PROOF:

Let f be written as (8). Then we have

$$f(s) = \sum_{n=w}^{\infty} (T_n + S_n) \mathcal{Z}^w = \sum_{n=w+1}^{\infty} \frac{\frac{w!}{(w-q)!} (1-\alpha)}{\frac{n!}{(n-q)!} \binom{n-q}{1+k} + (1-\alpha) B_n(\lambda)} T_n s^n - \sum_{n=w}^{\infty} \frac{\frac{w!}{(w-q)!} (1-\alpha)}{\frac{n!}{(n-q)!} \binom{n-q}{1+k} + (1+2k+\alpha) B_n(\lambda)} S_n s^n$$

Then,

$$\begin{aligned} & \sum_{l=w+1}^{\infty} \frac{\frac{l!}{(l-q)!} ((l-q)(1+k) + (1-\alpha)) B_n(\lambda)}{\frac{p!}{(p-q)!} (1-\alpha)} |a_n| \\ & + \sum_{n=w}^{\infty} \frac{\frac{n!}{(n-q)!} ((n-q)(1+k) + (1+2k+\alpha)) B_n(\lambda)}{\frac{w!}{(p-q)!} (1-\alpha)} |b_n| \\ & = \sum_{l=w+1}^{\infty} T_l + \sum_{l=w}^{\infty} S_l = 1 - T_w \leq 1. \end{aligned}$$

Then $f \in \text{clco } \overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$

Conversely, assume that $f \in \text{clco } \overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$. Putting

$$\begin{aligned} T_l &= \frac{\frac{l!}{(l-q)!} ((l-q)(1+k) + (1-\alpha)) B_l(\lambda)}{\frac{w!}{(w-q)!} (1-\alpha)} |a_l|, \quad l = w+1, w+2, \dots \\ S_l &= \frac{\frac{l!}{(l-q)!} ((l-q)(1+k) + (1+2k+\alpha))}{\frac{w!}{(w-q)!} (1-\alpha)} |b_l|, \quad l = w, w+1, \dots \end{aligned}$$

$$T_1 = 1 - \sum_{l=w+1}^{\infty} T_l + \sum_{l=w}^{\infty} S_l.$$

then $\sum_{l=w}^{\infty} (T_l + S_l) = 1, 0 \leq T_l \leq 1 (l = w+1, w+2, \dots), 0 \leq S_l \leq 1 (l = w, w+1, \dots)$.

Thus, by simple calculations we get

$$f(s) = \sum_{l=w}^{\infty} (T_l h_l(\mathcal{Z}) + S_l g_l(s))$$

And the proof is complete

THEOREM 4:

Let $f \in \overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$. Then

$$\begin{aligned} |f(s)| &\leq (1 + |b_w|)r^w + \frac{\frac{w!}{(w-q)!} (1-\alpha)}{B_{w+1}(\lambda) \frac{(w+1)!}{(p+1-q)!} [(p+1-q)(1+k) + (1-\alpha)]} \\ &\times \left(1 - \frac{\frac{w!}{(w-q)!} ((w-q)(1+k) + (1+2k+\alpha))}{\frac{w!}{(w-q)!} (1-\alpha)} |b_w| \right) r^{w+1} \end{aligned} \tag{9}$$

, $|s| = r < 1$
and

$$\begin{aligned} |f(s)| &\geq (1 + |b_w|)r^w + \frac{\frac{w!}{(w-q)!} (1-\alpha)}{B_{w+1}(\lambda) \frac{(w+1)!}{(w+1-q)!} [(w+1-q)(1+k) + (1-\alpha)]} \\ &\times \left(1 - \frac{\frac{w!}{(w-q)!} ((w-q)(1+k) + (1+2k+\alpha))}{\frac{w!}{(w-q)!} (1-\alpha)} |b_w| \right) r^{w+1} \end{aligned}$$

, $|s| = r < 1$

PROOF: We have

$$\begin{aligned}
 |f(s)| &\leq (1 + |b_w|)r^p + \sum_{l=2}^{\infty} (|a_l| + |b_l|)r^l \\
 &\leq (1 + |b_w|)r^w + \sum_{l=2}^{\infty} (|a_l| + |b_l|)r^{w+1} \\
 &= (1 + |b_w|)r^w \\
 &+ \frac{\frac{w!}{(w-q)!}(1-\alpha)}{B_{w+1}(\lambda)\frac{(w+1)!}{(w+1-q)!}[(w+1-q)(1+k)+(1-\alpha)]} \sum_{n=w+1}^{\infty} \left(\frac{\frac{(w+1)!}{(w+1-q)!}[(w+1-q)(1+k)+(1-\alpha)]}{\frac{w!}{(w-q)!}(1-\alpha)} |a_n| \right. \\
 &+ \left. \frac{\frac{(w+1)!}{(w+1-q)!}[(w+1-q)(1+k)+(1-\alpha)]}{\frac{w!}{(w-q)!}(1-\alpha)} |b_n| \right) B_l(\lambda) r^{w+1} \\
 &\leq (1 + |b_w|)r^w + \frac{\frac{w!}{(w-q)!}(1-\alpha)}{B_{w+1}(\lambda)\frac{(w+1)!}{(w+1-q)!}[(w+1-q)(1+k)+(1-\alpha)]} \\
 &\times \sum_{l=w+1}^{\infty} \left(\frac{\frac{l!}{(l-q)!}((l-q)(1+k)+(1-\alpha))}{\frac{w!}{(w-q)!}(1-\alpha)} |a_n| \right. \\
 &+ \left. \frac{\frac{l!}{(l-q)!}((l-q)(1+k)+(1+2k+\alpha))}{\frac{w!}{(w-q)!}(1-\alpha)} |b_l| \right) B_l(\lambda) r^{w+1} \\
 &\leq (1 + |b_w|)r^w + \frac{\frac{w!}{(w-q)!}(1-\alpha)}{B_{w+1}(\lambda)\frac{(w+1)!}{(w+1-q)!}[(w+1-q)(1+k)+(1-\alpha)]} \\
 &\times \left(1 - \frac{\frac{w!}{(w-q)!}((w-q)(1+k)+(1+2k+\alpha))}{\frac{w!}{(w-q)!}(1-\alpha)} |b_w| \right) r^{w+1} \\
 &\leq (1 + |b_w|)r^w \\
 &+ \frac{\frac{w!}{(w-q)!}}{\frac{(w+1)!}{(w+1-q)!}B_{w+1}(\lambda)} \left(\frac{(1-\alpha)}{(w+1-q)(1+k)+(1-\alpha)} \right. \\
 &\left. - \frac{((w-q)(1+k)+(1+2k+\alpha))}{(w+1-q)(1+k)+(1-\alpha)} |b_w| \right) r^{w+1}
 \end{aligned}$$

The next inequality can be proved by using similar arguments. This completes the proof of theorem. Now we define the convolution of two harmonic functions. If $f(z)$ and $g(z)$ be given by $f(s) = s^w - \sum_{l=w+1}^{\infty} |a_n|s^l - \sum_{l=w}^{\infty} |b_n|\bar{s}^l, g(s) = s^w - \sum_{l=w+1}^{\infty} |c_l|s^l - \sum_{l=w}^{\infty} |d_l|\bar{s}^l$ Then the Hadamard product of $f(Z)$ and $g(Z)$ defined by

$$(f * g)(s) = f(s) * g(s) = s^w - \sum_{l=w+1}^{\infty} |a_l||c_l|s^l - \sum_{l=w}^{\infty} |b_l||d_l|\bar{s}^l \tag{10}$$

THEOREM 5:

Let $f(s) \in \overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$ and $g(s) \in \overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$ Then for $0 \leq \beta \leq \alpha < 1$, we have $(f * g)(s) \in \overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma) \subset \overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$.

PROOF:

we have

$$(f * g)(s) = \mathcal{Z}^w - \sum_{l=w+1}^{\infty} |a_l| |c_l| s^l - \sum_{l=w}^{\infty} |b_n| |d_n| s^n$$

By noting that $|c_n| \leq 1$ and $|d_n| \leq 1$, the theorem follows easily by using the condition (6). The proof of this theorem is complete.

In the next theorem we show that $TS_H(\lambda, \alpha, k, \gamma)$ is closed under convex combination of its members.

THEOREM 6:

Let for $i = w, w + 1, \dots$ the function

$$f_i(s) = s^w - \sum_{n=w+1}^{\infty} |a_{i,l}| s^l + \sum_{l=w}^{\infty} |b_{i,l}| s^l,$$

Belong to $\overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$. Then $\sum_{n=1}^{\infty} \mu_i f_i(s)$ belongs to $\overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$, where $\sum_{n=1}^{\infty} \mu_i = 1, 0 \leq \mu_i < 1, i = 1, 2, \dots$.

PROOF:

Since $f_i \in \overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$ ($i = 1, 2, \dots$), then from (6), we have

$$\left(\sum_{l=p+1}^{\infty} \frac{l!}{(l-q)!} \frac{((l-q)(1+k) + (1-\alpha))}{\frac{w!}{(w-q)!} (1-\alpha)} |a_{i,l}| + \sum_{l=w}^{\infty} \frac{l!}{(l-q)!} \frac{((l-q)(1+k) + (1+2k+\alpha))}{\frac{w!}{(w-q)!} (1-\alpha)} |b_{i,n}| \right) B_l(\lambda) \leq 1$$

For $\sum_{i=1}^{\infty} \mu_i = 1, 0 \leq \mu_i \leq 1$, we may write the convex combination of f_i as

$$\sum_{i=1}^{\infty} \mu_i f_i = s^w - \sum_{l=w+1}^{\infty} \left(\sum_{i=1}^{\infty} \mu_i |a_{i,l}| \right) s^l - \sum_{l=w}^{\infty} \left(\sum_{i=1}^{\infty} \mu_i |b_{i,l}| \right) s^l$$

Thus

$$\begin{aligned} & \sum_{l=w+1}^{\infty} \frac{l!}{(l-q)!} \frac{((l-q)(1+k) + (1-\alpha))}{\frac{w!}{(w-q)!} (1-\alpha)} B_l(\lambda) \left(\sum_{i=1}^{\infty} \mu_i |a_{i,l}| \right) \\ & + \sum_{l=w}^{\infty} \frac{l!}{(l-q)!} \frac{((l-q)(1+k) + (1+2k+\alpha))}{\frac{w!}{(w-q)!} (1-\alpha)} B_l(\lambda) \left(\sum_{i=1}^{\infty} \mu_i |b_{i,l}| \right) \\ = & \sum_{i=1}^{\infty} \mu_i \left\{ \sum_{l=w+1}^{\infty} \frac{l!}{(l-q)!} \frac{((l-q)(1+k) + (1-\alpha))}{\frac{w!}{(w-q)!} (1-\alpha)} B_l(\lambda) |a_{i,l}| + \sum_{l=w}^{\infty} \frac{l!}{(l-q)!} \frac{((l-q)(1+k) + (1+2k+\alpha))}{\frac{w!}{(w-q)!} (1-\alpha)} B_l(\lambda) |b_{i,l}| \right\} \leq \end{aligned}$$

$$\sum_{i=1}^{\infty} \mu_i = 1$$

Then $\sum_{i=1}^{\infty} \mu_i f_i \in \overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$ The proof is complete.

THEOREM 7:

The class $\overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$ is convex set.

PROOF:

Let f_1, f_2 be the arbitrary elements of $\overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$. Then for every $t (0 < t < 1)$, we show that $(1-t)f_1 + tf_2 \in \overline{AJ_{\mathcal{H}}}(\lambda, \alpha, k, \gamma)$, thus we have

$$(1-t)f_1(s) + tf_2(s) = s^w - \sum_{n=w+1}^{\infty} [(1-t)|a_{n,1}| + t|a_{n,2}|] s^n - \sum_{n=w}^{\infty} [(1-t)|b_{n,1}| + t|b_{n,2}|] (\bar{s})^n$$

And

$$\begin{aligned}
 & \sum_{l=w+1}^{\infty} \frac{\frac{l!}{(l-q)!} (l-q)(1+k) + (1-\alpha)}{\frac{w!}{(w-q)!} (1-\alpha)} B_l(\lambda) [(1-t)|a_{l,1}| + t|a_{l,2}|] \\
 & \quad + \sum_{l=w}^{\infty} \frac{\frac{l!}{(l-q)!} (l-q)(1+k) + (1+2k+\alpha)}{\frac{w!}{(w-q)!} (1-\alpha)} B_l(\lambda) [(1-t)|b_{l,1}| + t|b_{l,2}|] \\
 = & (1-t) \left\{ \sum_{l=w+1}^{\infty} \left(\frac{\frac{l!}{(l-q)!} (l-q)(1+k) + (1-\alpha)}{\frac{w!}{(w-q)!} (1-\alpha)} \right) B_l(\lambda) |a_{l,1}| \right. \\
 & \quad \left. + \sum_{l=w}^{\infty} \frac{\frac{l!}{(l-q)!} (l-q)(1+k) + (1+2k+\alpha)}{\frac{p!}{(p-q)!} (1-\alpha)} B_l(\lambda) |b_{l,1}| \right\} \\
 & \quad + t \left\{ \sum_{l=w+1}^{\infty} \left(\frac{\frac{l!}{(l-q)!} (l-q)(1+k) + (1-\alpha)}{\frac{w!}{(w-q)!} (1-\alpha)} \right) B_l(\lambda) |a_{l,2}| \right. \\
 & \quad \left. + \sum_{l=w}^{\infty} \frac{\frac{l!}{(l-q)!} (l-q)(1+k) + (1+2k+\alpha)}{\frac{w!}{(w-q)!} ((w-q)((1-\alpha)1+k) + (k-\alpha))} B_l(\lambda) |b_{l,2}| \right\} \leq (1-t) + t = 1
 \end{aligned}$$

References

- [1] H. Silverman and E.M. Silvia, Subclasses of Harmonic univalent functions, *New Zealand J. Math.*, 28 (1999), 275-284.
- [2] J. Clunie, T. Scheil- Small, Harmonic univalent functions, *Ann. Acad. Sci. Fenn. Ser. A. I. Math.*, 9(1984), 3-25.
- [3] J. M. Jahangiri, Coefficient bounds and univalent criteria for harmonic functions with negative coefficients, *Ann. Univ. Marie-Curie Sklodowska Sect. A*, 52(2)(1998), 57-66.
- [4] O. P. Ahuja and J. M. Jahangiri, Multivalent harmonic starlike functions, *Ann. Univ. Marie Curie-Sklodowska Sect. A*, LV1(2001),1-13.
- [5] R. Omar and S. A. Halim, "Multivalent harmonic functions defined by Dziok-Srivastava operator," *Bull. Malays. Math. Sci. Soc.*(2), vol. 35, no. 3, pp. 601–610, 2012.).